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1-  She emanated worldliness and the selfishness of one who is ........... to everything but her
own needs and caprices.
1) visible 2) compensatory 3) available 4) indifferent
2-  Concrete blocks were piled high to .......... the government center.
1) fortify 2) reveal 3) circulate 4) overlap
3-  All sound has three .........: : pitch, volume, and duration.
1) impacts 2) merits 3) properties 4) realms
4-  One of Britain’s most .......... criminals has escaped from prison.
1) meritorious 2) notorious 3) indigenous 4) industrious
5- By the 1930s the wristwatch had almost completely .......... the pocket watch.
1) devised 2) thwarted 3) supplanted 4) founded
6-  She cared for her stepmother with unfailing .......... throughout her long illness.
1) devotion 2) conformity 3) defect 4) prevalence
7-  Ryan needed ........... agreement to bring his proposal up for a vote.
1) contentious 2) adjacent 3) deliberate 4) unanimous
8-  With so much water having ......... its exterior, the engine was effectively ruined.
1) varnished 2) penetrated 3) inhabited 4) exceeded
9-  Considering the ........... of his injuries, he's lucky o be alive.
1) hurdle 2) divergence 3) extent 4) symptom
10- They intend to keep their force there in the region to ......... compliance with the treaty.
1} verify 2) recollect 3) seize 4} conquer

| PART B: Cluze Test
| Directions: Read the following passage and decide which choice (1), (2), (3), or
I (4} best fits e, each space. Tt Then mark the cormct choice on yaur answer sheef |

The extensive fossil record of genera and species is testimony that dinosaurs were diverse
animals, (11) ........ lifestyles and adaptations. Their remains (12) ......... in sedimentary rock
layers (strata) dating to the Late Triassic Period (227 million to 206 million years ago). The
abundance of their fossilized bones is substantive proof (13) ......... dinosaurs were the
dominant form of terrestrial animal life during the Mesozoic Era (248 million to 65 million
years ago). It is likely that the known remains (14) .......... a very small fraction (probably less
than 0.0001 percent) of all the individual dinosaurs (15)...........

11- 1) and widely various 2} with widely varying

3) with-wide varieties 4) and varying with wide
12- 1) found 2) that are found 3) are found 4) have found
13- 1) whether 2)if 3) when 4) that
14- 1) representing 2) representative of ~ 3) a representation of  4) represent
15- 1) were living once 2) that once lived

3) that lived once 4) once that they lived
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| PART C: Rﬂag Cagiun

Directions: Read the following tow passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

PASSAGE 1:

The seismic collapse of a structural system is one of the most important causes for the
loss of life during and after a severe ground motion. Hence, quantification of the
collapse potential of existing and newly designed structures is an important issue in
performance-based earthquake engineering. Incremental dynamic analysis (IDA) is a
widely used method for the estimation of the seismic collapse capacity of structures.
This method requires non-linear response-history analyses of the specific structure for
an appropriate set of strong ground motion records (SGMR's), each scaled to different
intensity levels, to cover a wide range of the structural response from elastic
behaviour to global instability on the basis of an engineering demand parameter
(EDP) e.g. the maximum inter-storey drift ratio.

The SGMR's which are used for non-linear response-history analysis are usually
chosen based on magnitude, distance and site conditions. Since there is a lack of
knowledge about future earthquakes, it would be reasonable to use a relatively large
set of SGMR's for the IDA analysis of a specific structure. However, this target is not
very realistic, so some approximate methods have recently emerged. The approximate
methods for IDA analysis usually involve the replacement of non-linear response-
history analysis by a combination of the pushover analysis of a multi-degree-of-
freedom (MDOF) model and a non-linear response-history analysis of a single-
degree-of-freedom (SDOF) model.

What is the main concern in passage 17

1) strong ground motion selection

2) Incremental dynamic analysis

3) multi degree of freedom systems

4) Assessments of the seismic collapse of a structure
What is the latest method for collapse estimation?

1) static analysis 2) pushover analysis

3) Incremental dynamic analysis 4) response spectrum analysis
What is the common criteria for record selection?

1) Based on collapse 2) Based on structure

3) Based on M (magnitude) and R (distance) 4) Based on maximum inter-story drift ratio
Which of the following is not applicable in IDA?

1) Energy caleulation

2) scaling to different intensity levels

3) non-liner response- history analysis

4) elastic behaviour and global instability
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20- Why we need to select a large numbers of records for analysis?
1) For accuracy
2) For robustness
3) Need for non-linear response-history analysis
4) Suffering from amount of information about next earthquake.

PASSAGE 2:

One of the challenges in the non-linear response-history analysis of sophisticated
structural models is how to select a limited number of strong ground motion records
(SGMR's). The selection of appropriate SGMR's needs to be performed with the goal
of accurately estimating the response of a structure to a specified ground motion
intensity, as measured by the spectral acceleration corresponding to the first mode
period of the structure, S4(T)). The current code-based method of record selection is
based on a consideration of the magnitude and distance of the SGMR's, while
matching the mean response spectrum to the uniform hazard spectrum (UHS) as a
target spectrum. Based on this approach, some methods have been developed for the
selection and scaling of a set of near-optimal records from a large database. Since no
single earthquake is likely to produce a spectrum as high as the UHS spectrum, the
code-based procedure for record selection is usually conservatively biased. Reduction
of this bias and the variance of the resulting structural response can be achieved by
considering the spectral shape in the record selection. ... This selection presents a
significant challenge when assessing the seismic collapse capacity of a large number
of structures or when developing a systematic procedure, since it implies the need to
assemble specific ground motion sets for each structure. An alternative method has
been proposed, whereby a general set of SGMR's is used to simulate collapse, and the
resulting collapse capacity is adjusted in order to take into account the spectral shape
effects that are not reflected in the selection of the general set. The major difficulty of
this method is that it implies the need to apply a relatively large number of ground
motion records for the collapse assessment of the structures involved.

21- What is the target spectrum based on the passage?

1) 2800 spectrum 2) UHS spectrum

3) code — base spectrum 4) site — specific spectrum
22- What does bias mean?

1} Error 2) Exact solution

3) Approximate 4) Deviation from the real solution
23- What is the main computational challenge in the text?

1) Analysis time 2) Record selection

3) Modelling the structure 4) How to use approximate methods
24- What is the major difficulty in the proposed method?

1) using too many records 2) using super — computers

3) using standards 4) using sophisticated structural models
25- What will happen if non-appropriate records being used?

1) the structure fails 2) 54(T,) is not accurate —enough

3) the structure response is not accurate 4} the collapse cannot be computed
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Choose the best topic for the following text:

During the loading of a structure, supports may settle by small amounts and since the
reactive forces are most unlikely to be equal, the settlements of the various supports will
differ, causing relative moments of the ends of a particular span.

1) Settlement of supports 2) Loading of a structure

3) Equilibrium of reaction forces 4) Particular span in a structure

The volume contraction which occurs as the concrete hardens and dries out, is called the
drying shrinkage, or simply the shrinkage.

In the above text the underlined word means:

1) drying 2) expansion

3) the process of becoming smaller 4) an official written agreement

In the following text the word fine means:

The fine aggregate such as natural sand, or crushed stone sand or crushed gravel sand,
which consist of particles mainly passing a 5 mm sieve.

1) good 2) coarse 3) sand 4) small grains

In the two following questions, choose the best answer for filling the blanc.

Weakness in metal or wood caused by repeated bending or stretching is called - -.

1) stress 2) fatigue 3) torsion 4) bending moment
Under repeated tension and compression forces, -------- --= were formed in railway bridges
made of cast iron.

1) flaws 2) flows 3) drainage 4) torsion
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